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QUESTION 1

What happens when you select the Round Robin option for a workflow stage?

A. A record is randomly assigned to qualified users.

B. A record is assigned to the user with the smallest workflow queue.

C. Arecord is assigned to the user with the most expertise on that topic.

D. A record is assigned to the user with the highest level of access for that application.

Correct Answer: A

QUESTION 2

Which of the following frequencies is NOT an option for Subscription Notifications?
A. Hourly

B. Weekly

C. Monthly

D. Instantly

Correct Answer: A

QUESTION 3

Which of the following statements does NOT apply to RSA Archer groups?

A. Multiple groups can be assigned to an access role.

B. A group is a collection of users and/or other groups.

C. Automatic creation and maintenance of groups can be done through LDAP synchronization.

D. Nesting of groups is limited to a single parent/child structure (i.e. a parent group cannot be the child of another parent
group)

Correct Answer: D

QUESTION 4
Which of the following is NOT a required attribute for a user account?

A. User Name
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B. Access Role
C. First and Last Name
D. Notification Subscriptions

Correct Answer: D

QUESTION 5

Which of the following actions do NOT have the possibility of triggering a subscription notification?
A. Launching a Questionnaire campaign

B. Editing the value in a Text field

C. Deleting a record in an application

D. Creating a new record in an application

Correct Answer: C

QUESTION 6

For a Conditional Layout action, which of the following options is NOT a valid selection for a field?
A. Display

B. Expand

C. Required

D. Read Only

Correct Answer: B

QUESTION 7

Which of the following statements best summarizes what happens when executing an advanced search that filters on
the Policy Owner field using the "Current User" filter?

A. The search results will contain only records that include the text "Current User."
B. The search results will be sorted based on the values included in the Policy Owner field.
C. The search results will contain only records that include the text "Policy Owner" in the Description field.

D. The search results will contain only the records where the user who runs the search is listed in the Policy Owner
field.

Correct Answer: D
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QUESTION 8

Which of the following application statuses will remove the application from view for all end users?
A. Offline

B. Retired

C. Archived

D. Development

Correct Answer: B

QUESTION 9

Which of the following types of fields can NOT be calculated?
A. Text fields

B. Date fields

C. Values List fields

D. Cross-Reference fields

Correct Answer: D

QUESTION 10

Which of the following is NOT a category for RSA Archer field types?
A. Basic

B. System

C. Advanced

D. Technical

Correct Answer: D

QUESTION 11
Which of the following statements about the system administrator role is NOT true?
A. The system administrator role can be altered.

B. The system administrator role cannot be deleted.
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C. Only system administrators can assign other users the system administrator role.
D. System administrators have authority to revoke application ownership for any user.

Correct Answer: A

QUESTION 12

If a History Log field is deleted from an application, what will happen to the data stored within that History Log field?
A. All data previously stored in that field is deleted.

B. All data previously stored in that field is still maintained by the database.

C. The user data stored within that field is saved, but all other data is deleted.

D. Nothing; it is not possible to delete a History Log field once it has been populated within a single

record.

Correct Answer: A

QUESTION 13

When building a Rule for a data-driven event, which of the following field types CAN NOT be referenced by the rule?
A. Text

B. Attachment

C. Record Status

D. Users/Groups List

Correct Answer: B

QUESTION 14

What two fields are automatically added to an application when an administrator enables a workflow
process?

(Choose Two)

A. Workflow Stage

B. Workflow Status

C. Workflow Assignees

D. Workflow Risk Rating
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E. Workflow Permissions

Correct Answer: AC

QUESTION 15

Which of the following describes what must be performed before pasting non-English text into an RSA Archer record?
A. No additional tasks need to be performed.

B. The application must be set to "Production” status.

C. The user\\'s locale setting must match the language type.

D. The Spell Check option for the application must be disabled.

Correct Answer: A
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